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Time : 3 Hours]   [Max. Marks : 70 
 
ÍÛæ̃ Û¶ÛÛ : (1) ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé ºõÁõÜ›÷ýÛÛ©Û ™öé.  

  (2) ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä¨Û ÍÛÁõ”ÛÛ ™öé.  
 
1. (…) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé …éïõ) 7 
  (1) ¸Û¦ø©ÛÁõ¶ÛÛ ©Û«ÈÛÛé  
  (2) ¸Û¦ø©ÛÁõ ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û¶ÛÛ ºõÛýÛþùÛ…Ûé  
  (3) ÜÍ¬ÛÁõ ”Û˜ÛÙ …¶Ûé ˜ÛÜÅÛ©Û ”Û˜ÛÙ  
 
 (¼Û) ‘ÍÛéÈÛÛ ¸Û¦ø©ÛÁ’õ ¸Û±ùÜ©Û ÍÛ¾Û›ÛÈÛÛé …¶Ûé ¶Ûà˜Ûé¶ÛÛ Š²Ûé•Û¾ÛÛ× ïõýÛä× ¸Û¦ø©ÛÁõ …éïõ¾Û ÈÛ¸ÛÁõÛýÛ ™öé ©Ûé     

›÷¨ÛÛÈÛÛé :  7 
  (i) ÁéõÅÛÈÛé 
  (ii) ÐüÛé¤øÅÛ  
  (iii) ÁõÍÛÛýÛ¨Û 
    …¬ÛÈÛÛ  
 (¼Û) ÍÛ¾ÛÛ¶Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶ÛÛ Ðéü©Ûä…Ûé ÍÛ¾Û›ÛÈÛÛé …¶Ûé ¶Ûà˜Ûé¶ÛÛ ”Û˜ÛÙ ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà ïéõ ¸ÛÁõÛé“Û ¾Û›æ÷Áõà ™öé 

©Ûé ›÷¨ÛÛÈÛÛé  ƒ  
  (i) ÍÛä¬ÛÛÁõ¶Ûé ˜ÛäïõÈÛÛ©Ûà ¾Û›æ÷Áõà  
  (ii) ïõÛ¸Û¦ø ÈÛ¨Û¶ÛÛÁõ¶Ûé ˜ÛäïõÈÛÛ©Ûà ¾Û›æ÷Áõà  
  (iii) ›÷¶ÛÁõÅÛ ¾Ûé¶Ûé›÷Áõ¶ÛÛé ¸Û•ÛÛÁõ  
 
2. (…) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé  ƒ (•Û¾Ûé ©Ûé …éïõ) 6 
  (i) Ü¼Û¶Û ïõÛ¦Ùø  
  (ii) ¾ÛÛÅÛÍÛÛ¾Û•Ûóà …×ïäõÉÛ¶Ûä× …. ¼Û. ïõ. ÈÛ•ÛâïõÁõ¨Û  
    …¬ÛÈÛÛ  
 (…) Š©¸ÛÛþù¶Û ¾ÛÛ¤éø …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛ©ÛÛ ¾ÛÛÅÛ¶Ûà Ýïõ¾Û©Û ¶Û‘õà ïõÁõÈÛÛ¶Ûà “½ÛÛÜÁõ©Û ÍÛÁéõÁõÛÉÛ ¸Û±ùÜ©Û” 

ÍÛ¾Û›ÛÈÛÛé.  
 

 (¼Û) (i) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ÈÛÁõþùà ÍÛ¸ÛÛ¤øà, ÅÛ–Ûä«Û¾Û ÍÛ¸ÛÛ¤øà, •ÛäÂú«Û¾Û ÍÛ¸ÛÛ¤øà …¶Ûé ÍÛÅÛÛ¾Û©Ûà 
›÷¬¬ÛÛé ÉÛÛéµÛÛé  ƒ  8 

TR-118 1 P.T.O.  

ÈÛÁõþùà ›÷¬¬ÛÛé  – 12600 …éïõ¾ÛÛé 
ÈÛÁõþùà ÍÛ¾ÛýÛ  – 6 ¬Ûà 10 …¥øÈÛÛÜ¦øýÛÛ  
ÈÛµÛä¾ÛÛ× ÈÛµÛä ÈÛ¸ÛÁõÛÉÛ  – 3150 …éïõ¾ÛÛé þùÁõ …¥øÈÛÛÜ¦øýÛé  
…Ûé™öÛ¾ÛÛ× …Ûé™öÛé ÈÛ¸ÛÁõÛÉÛ  – 1050 …éïõ¾ÛÛé þùÁõ …¥øÈÛÛÜ¦øýÛé 
ÍÛÁéõÁõÛÉÛ ÈÛ¸ÛÁõÛÉÛ  – 2100 …éïõ¾ÛÛé þùÁõ …¥øÈÛÛÜ¦øýÛé 



TR-118 2  

  (ii) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà Üïõ©ÛÙ¶Û ï×õ¸Û¶Ûà ÜÅÛ. ¶ÛÛ ÈÛÌÛÙ 2012-2013¶Ûà ÅÛéÈÛÛ¾ÛÛ× …ÛÈÛéÅÛà ™öé : 
ÈÛÛÜÌÛÙïõ ÈÛ¸ÛÁõÛÉÛ¶ÛÛé ›÷¬¬ÛÛé  – 20,000 …éï¾Û 
…éïõ¾Ûþùà¥ø ”ÛÁõàþù Ýïõ¾Û©Û  – ` 50 
þùÁéõïõ …Ûé¦ÙøÁõ ¾ÛæïõÈÛÛ¶ÛÛé ”Û˜ÛÙ  – ` 500 
…Ûé¦ÙøÁõþùà¥ø ÈÛÐü¶Û”Û˜ÛÙ  – 10% ”ÛÁõàþù Ýïõ¾Û©Û ¸ÛÁõ  

   …ÛÜ¬ÛÙïõ ÈÛÁõþùà ›÷¬¬ÛÛ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 
…¬ÛÈÛÛ  

 (¼Û) …éïõ ïõÛÁõ”ÛÛ¶ÛÛ¾ÛÛ× …éÜ¸ÛóÅÛ 2013 þùÁõÜ¾ÛýÛÛ¶Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û “X” …×•Ûé …ÛÈÛïõ …¶Ûé ›ÛÈÛïõ¶Ûà 
¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 8  

…ÛÈÛïõ  ›ÛÈÛïõ  
©ÛÛÁõà”Û 

…éïõ¾ÛÛé  …éïõ¾Ûþùà¥ø Ýïõ¾Û©Û `  ©ÛÛÁõà”Û  …éïõ¾ÛÛé  
01-4-2013 1800 2 12-4-2013 3000 
05-4-2013 3600 3 20-4-2013 4800 
15-4-2013 4200 3 29-4-2013   600 
26-4-2013 1800 4   

   ©ÛÛÁõà”Û 12-4-2013 …¶Ûé 20-4-2013 ¶ÛÛ ÁõÛé›÷¶Ûà ›ÛÈÛïõ¶Ûà Ýïõ¾Û©Û ¶Û‘õà ïõÁõÈÛÛ ¾ÛÛ¤éø 
…¶Ûä’õ¾Ûé “ÜÅÛºõÛé (LIFO)” …¶Ûé “ÜºõºõÛé (FIFO)” ¸Û±ùÜ©Û …¸Û¶ÛÛÈÛÛˆ ™öé. šýÛÛÁéõ ©ÛÛÁõà”Û           
26-4-2013 ¶ÛÛ ÁõÛé›÷¬Ûà ›ÛÈÛïõ¶ÛÛ× ¾ÛæÅýÛÛ×ïõ¶Û ¾ÛÛ¤éø “½ÛÛÜÁõ©Û ÍÛÁéõÁõÛÉÛ” ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõÈÛÛ¶Ûä× 
¶Û‘õà ïõÁõÈÛÛ¾ÛÛ× …ÛÈýÛä× ™öé :  

   ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶ÛÛ Í¤øÛéïõ¶Ûä× ¸ÛªÛïõ ©ÛíéýÛÛÁõ ïõÁõÛé.  
 
3. (…) …éïõ ïõÛÁõ”ÛÛ¶ÛÛ¶Ûà ¾ÛÛ˜ÛÙ 2013¶Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ÁõÛéïõ¦ø¾ÛÛ× ˜ÛæïõÈÛÈÛÛ¸ÛÛªÛ ˜ÛÛé””Ûà ¾Û›æ÷Áõà¶Ûà 

Áõïõ¾Û ÉÛÛéµÛÛé …¶Ûé ¾Û›æ÷Áõà¶Ûà ¸Û¦ø©ÛÁõ ÉÛÛéµÛÛé : 8 
  (i) ¾ÛÛÜÍÛïõ ¸Û•ÛÛÁõ ` 50,000 
  (ii) ¾ÛÛê–ÛÈÛÛÁõà ½Û¬¬Ûä× ¸Û•ÛÛÁõ¶ÛÛ 120% 
  (iii) ¸ÛóÛé. º×õ¦ø¾ÛÛ× ½ÛÁéõÅÛà ïäõÅÛ Áõïõ¾Û ` 10,000 
  (iv) ïõÛ¾ÛþùÛÁõ ÁõÛšýÛ ÈÛà¾ÛÛ ýÛÛé›÷¶ÛÛ¾ÛÛ× ½ÛÁéõÅÛà ïäõÅÛ Áõïõ¾Û ` 3,750 
  (v) ïõ¾ÛÙ˜ÛÛÁõà…Ûé¶Ûé ¸ÛæÁõà ¸ÛÛ¦éøÅÛ ÍÛÈÛÅÛ©ÛÛé¶ÛÛ ”Û˜ÛÛÙ ` 3,500 
  (vi) 25 ïõ¾ÛÙ˜ÛÛÁõà…Ûé ¸ÛÛÍÛé¬Ûà ¾ÛÛÜÍÛïõ ` 150 ÅÛé”Ûé ¾ÛïõÛ¶Û½ÛÛ¦ä×ø ÈÛÍÛæÅÛ ïõýÛäÚ 
    ¸ÛóÛé. º×õ¦ø¾ÛÛ× ïõÛ¾ÛþùÛÁõÛé¶ÛÛ ºõÛÇÛ ›÷é¤øÅÛÛé ›÷ ºõÛÇÛé ¾ÛÛÜÅÛïõ …Û¸Ûé ™öé, šýÛÛÁéõ ïõÛ¾ÛþùÛÁõ 

ÁõÛšýÛ ÈÛà¾ÛÛ ýÛÛé›÷¶ÛÛ¶ÛÛ ºõÛÇÛ¾ÛÛ× ¾ÛÛÜÅÛïõ …¶Ûé ïõÛ¾ÛþùÛÁõÛé¶ÛÛ ÜÐüÍÍÛÛ¶Ûä× ¸Ûó¾ÛÛ¨Û 2 : 1 ™öé.  
…¬ÛÈÛÛ  

 (…) ïõ¸Û¦øÈÛ×›÷ ïõÛñ¤ø¶Û Ü¾ÛÅÍÛ ÜÅÛ. ¶ÛÛ ïõ¾ÛÙ˜ÛÛÁõà ÜÈÛ½ÛÛ•Û¾ÛÛ×¬Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÇé ™öé ©Ûé¶ÛÛ ¸ÛÁõ¬Ûà  
  (i) ¶ÛÈÛÛ Ü¶Û¾ÛÛýÛéÅÛÛ ïõÛ¾ÛþùÛÁõÛé¶Ûé …ÛµÛÛÁéõ  
  (ii) ™æö¤øÛ ¬ÛýÛéÅÛÛ ïõÛ¾ÛþùÛÁõÛé¶Ûé …ÛµÛÛÁéõ ¾Û›æ÷Áõ ºéõÁõ¼ÛþùÅÛà þùÁõ ÉÛÛéµÛÛé ©Ûé¾Û›÷  
  (iii) ¼Û×¶Ûé ¸Û±ùÜ©Û¶Ûé …ÛµÛÛÁéõ ÍÛ¾Ûïõ“Û ÈÛÛÜÌÛÙïõ ¾Û›æ÷Áõ ºéõÁõ¼ÛþùÅÛà þùÁõ ÉÛÛéµÛÛé.  
  ©ÛÛ. 1-1-2012 ¶ÛÛ ÁõÛé›÷ ïõÛ¾ÛþùÛÁõÛé¶Ûà ÍÛ×”ýÛÛ         –   12000 
  ©ÛÛ. 31-12-2012 ¶ÛÛ ÁõÛé›÷ ïõÛ¾ÛþùÛÁõÛé¶Ûà ÍÛ×”ýÛÛ     –    8000 
  Ü¦øÍÛé¾¼ÛÁõ 2012 þùÁõÜ¾ÛýÛÛ¶Û  
  ÁõÛœ÷¶ÛÛ¾Ûä× …Û¸Ûà ™æö¤øÛ ¬ÛýÛéÅÛÛ ïõÛ¾ÛþùÛÁõÛé¶Ûà ÍÛ×”ýÛÛ  – 600 
  Ü¶ÛÈÛè«Û ¬ÛýÛéÅÛ ïõÛ¾ÛþùÛÁõÛé¶Ûà ÍÛ×”ýÛÛ – 1200 
  ¼ÛÁõ©ÛÁõºõ ¬ÛýÛéÅÛ ïõÛ¾ÛþùÛÁõÛé¶Ûà ÍÛ×”ýÛÛ – 800 
  ¶ÛÈÛÛ Ü¶Û¾ÛÛýÛéÅÛÛ ïõÛ¾ÛþùÛÁõÛé¶Ûà ÍÛ×”ýÛÛ – 1500 
  (¶ÛÈÛÛ Ü¶Û¾ÛÛýÛéÅÛÛ ïõÛ¾ÛþùÛÁõÛé ¸Ûíéïõà 30% ïõÛ¾ÛþùÛÁõÛé ÜÈÛÍ©ÛÁõ¨Û ýÛÛé›÷¶ÛÛ Ðéü¥øÇ Ü¶Û¾ÛÛýÛéÅÛÛ ™öé.) 
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 (¼Û) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé  ƒ (•Û¾Ûé ©Ûé …éïõ)    6 
  (i) ÐéüÅÍÛà ýÛÛé›÷¶ÛÛ  
  (ii) ¾Û›æ÷Áõ ºéõÁõ¼ÛþùÅÛà þùÁõ¶ÛÛ ïõÛÁõ¨ÛÛé  
  (iii) ¶ÛºõÛ½ÛÛ•Û ýÛÛé›÷¶ÛÛ 
 
4. µÛà Üïõ©ÛÙ¶Û ÜÅÛÜ¾Û¤éø¦ø¶ÛÛ ïõÛÁõ”ÛÛ¶ÛÛ¾ÛÛ× X, Y, Z ¶ÛÛ¾Û¶ÛÛ ªÛ¨Û Š©¸ÛÛþù¶Û ÜÈÛ½ÛÛ•ÛÛé ™öé, ©Ûé¾Û›÷ “M” ¶ÛÛ¾Û¶ÛÛé 

ÍÛéÈÛÛ ÜÈÛ½ÛÛ•Û ™öé. ¾ÛÛ˜ÛÙ-2013 þùÁõÜ¾ÛýÛÛ¶Û 8 ïõÅÛÛïõ¶ÛÛé …éïõ …éÈÛÛ 25 ïõÛ¾ÛïõÛ›÷¶ÛÛ ÜþùÈÛÍÛÛé ™öé. ï×õ¸Û¶Ûà¶ÛÛ 
ÁéõïõÛé¦Ùø¾ÛÛ×¬Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛéÇÈÛÈÛÛ¾ÛÛ× …ÛÈÛà ™öé  ƒ   14 

 ` 
½ÛÛ¦ä×ø …¶Ûé ÈÛéÁõÛ    – 40,000 
ÍÛä¸ÛÁõÈÛÛˆ¡öÁõ¶ÛÛé ¸Û•ÛÛÁõ   – 50,000 
ïõÛÁõ”ÛÛ¶ÛÛ¶Ûà ÈÛà›÷Çà  – 30,000 
–ÛÍÛÛÁõÛé     – 15,000 
ïéõ¶¤øà¶Û ”Û˜ÛÛÙ    – 12,000 
¸ÛÛÈÛÁõ     – 14,000 

 …Û Š¸ÛÁõÛ×©Û ¶Ûà˜Ûé¶Ûà ÈÛµÛÛÁõÛ¶Ûà ¾ÛÛÜÐü©Ûà …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛà ™öé, ©Ûé¶Ûé …ÛµÛÛÁéõ ªÛ¨ÛéýÛ Š©¸ÛÛþù¶Û ÜÈÛ½ÛÛ•Û¶ÛÛé 
“¸Ûó©ýÛ“Û ïõÛ¾ÛþùÛÁõ ïõÅÛÛïõþùÁõ” ÉÛÛéµÛÛé : 

ÜÈÛ•Û©Û  X Y Z M 
ÈÛà›÷Çà¶ÛÛ ¸ÛÛéˆ¶¤ø¶Ûà ÍÛ×”ýÛÛ  24 12 18 6 
ÁõÛéïéõÅÛà ›÷•ýÛÛ (˜ÛÛé.ºæõ¤ø)  900 600 750 750 
ïõÛ¾ÛþùÛÁõÛé¶Ûà ÍÛ×”ýÛÛ  500 300 200 200 
ýÛ×ªÛÛé¶Ûà Ýïõ¾Û©Û (`) 2,00,000 1,20,000 2,80,000 – 
ýÛ×ªÛÛé¶ÛÛé ÐüÛéÍÛÙ¸ÛÛÈÛÁõ 60 30 50 – 
ÍÛä¸ÛÁõÈÛÛˆ¡öÁõ¶ÛÛ ¸Û•ÛÛÁõ¶Ûà ºõÛÇÈÛ¨Ûà¶Ûä× ¸Ûó¾ÛÛ¨Û  9 6 6 9 
ÍÛéÈÛÛ ÜÈÛ½ÛÛ•Ûé …Û¸ÛéÅÛ ÍÛéÈÛÛ¶Ûä× ¸Ûó¾ÛÛ¨Û  40% 30% 30% – 

…¬ÛÈÛÛ  
 ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ýÛÛ×ÜªÛïõ ïõÅÛÛïõþùÁõ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé :  14 

ýÛ×ªÛ¶Ûà Ýïõ¾Û©Û  – ` 3,00,000 
ýÛ×ªÛ¶Ûä× Š¸ÛýÛÛé•Ûà …ÛýÛäÌýÛ  – 20 ÈÛÌÛÙ 
ýÛ×ªÛ¶ÛÛ ÈÛÛÜÌÛÙïõ ïõÛ¾Û¶ÛÛ ïõÅÛÛïõÛé  – 2000 

 

  ` 
ïõÛÁõ”ÛÛ¶ÛÛ¶Ûà ÈÛà›÷Çà (ÈÛÛÜÌÛÙïõ)  – 10,000 
ýÛ×ªÛ¶Ûé ºõÛÇé …ÛÈÛ©ÛÛ ¸ÛÁõ˜ÛæÁõ¨Û ”Û˜ÛÛÙ (ÈÛÛÜÌÛÙïõ)  – 10,000 
ïõÛÁõ”ÛÛ¶ÛÛ¶Ûä× ½ÛÛ¦ä×ø (ÈÛÛÜÌÛÙïõ)  – 12,000 
ýÛ×ªÛ¶Ûä× ÈÛà¾ÛÛ ¸ÛóàÜ¾ÛýÛ¾Û (ÈÛÛÜÌÛÙïõ)  – 3,000 
Š¸ÛýÛÛé•Ûà …ÛýÛäÌýÛ þùÁõÜ¾ÛýÛÛ¶Û ýÛ×ªÛ¶Ûä× ÍÛ¾ÛÛÁõïõÛ¾Û ”Û˜ÛÙ  – 60,000 

 (i) ýÛ×ªÛ¾ÛÛ× ¸ÛÛÈÛÁõ¶ÛÛé ÈÛ¸ÛÁõÛÉÛ ïõÅÛÛïõ þùà¥ø 2 ýÛäÜ¶Û¤ø ™öé. …éïõ ýÛäÜ¶Û¤ø¶ÛÛé þùÁõ ` 0.50 ™öé.  
 (ii) ýÛ×ªÛ ïõÛÁõ”ÛÛ¶ÛÛ¾ÛÛ× 1/4 ½ÛÛ•Û¶Ûà ›÷•ýÛÛ ÁõÛéïéõ ™öé.  
 (iii) ïäõÅÛ ïõÛ¾ÛþùÛÁõÛé¶ÛÛ 1/5 ½ÛÛ•Û¶ÛÛ ïõÛ¾ÛþùÛÁõÛé …Û ýÛ×ªÛ ¸ÛÁõ ïõÛ¾Û ïõÁéõ ™öé. ïõÛÁõ”ÛÛ¶ÛÛ¶Ûà ÈÛà›÷Çà 

ïõÛ¾ÛþùÛÁõÛé¶Ûà ÍÛ×”ýÛÛ¶ÛÛ ¸Ûó¾ÛÛ¨Û¾ÛÛ× ºõÛÇÈÛÈÛÛ¶Ûà ™öé.  



5. ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ÍÛÛ˜ÛÛé ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé (›÷ÄõÁõà •Û¨Û©ÛÁõà/ïõÛÁõ¨Û þùÉÛÛÙÈÛÛé) (ïõÛéˆ¸Û¨Û ÍÛÛ©Û) : 14 
 (1) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶ÛÛé ¸Ûíéïõà ïõýÛä× ÜÈÛµÛÛ¶Û ÍÛÛ˜Ûä× ¶Û¬Ûà ? 
  (i) ÈÛÐüàÈÛ¤øà ¸Û•ÛÛÁõ …é ÜÍ¬ÛÁõ ”Û˜ÛÙ ™öé.  
  (ii) ïäõÅÛ ÜÍ¬ÛÁõ ”Û˜ÛÙ Ü¶ÛÜÊ˜Û©Û ¾ÛýÛÛÙþùÛ¾ÛÛ× …éïõ¾Ûþùà¥ø µÛÛéÁõ¨Ûé ¼ÛþùÅÛÛ©ÛÛé ¶Û¬Ûà ¸ÛÁ×õ©Ûä ÜÍ¬ÛÁõ ÁõÐéü ™öé.  
  (iii) šýÛÛÁéõ Š©¸ÛÛþù¶Û¶ÛÛé ›÷¬¬ÛÛé –Û¤éø, ©ýÛÛÁéõ …éïõ¾Ûþùà¥ø ˜ÛÜÅÛ©Û Š©¸ÛÛþù¶Û ”Û˜ÛÙ ÜÍ¬ÛÁõ ÁõÐéü ™öé, ¸ÛÁ×õ©Ûä 

ïäõÅÛ ˜ÛÜÅÛ©Û ”Û˜ÛÙ –Û¤éø ™öé.  
  (iv) …µÛÙ-˜ÛÜÅÛ©Û ”Û˜ÛÙ ¼Ûé ¸ÛóïõÛÁõ¶ÛÛ ”Û˜ÛÙ¶ÛÛé ¼Û¶ÛéÅÛÛé ™öé  ƒ ÜÍ¬ÛÁõ …¶Ûé ˜ÛÜÅÛ©Û ”Û˜ÛÙ  
 

 (2) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛÛ µÛ×µÛÛ¶Ûé “ÍÛéÈÛÛ ¸Û¦ø©ÛÁ”õ ¸Û±ùÜ©Û ÅÛÛ•Ûä ¸Û¦ø©Ûà ¶Û¬Ûà ? 
  (i) ÈÛÛÐü¶ÛÈýÛÈÛÐüÛÁõ ï×õ¸Û¶Ûà  (ii) ÐüÛñ¤éøÅÛ  
  (iii) …ÛñˆÅÛ ÜÁõºõÛˆ¶ÛÁõà  (iv) ÐüÛñÜÍ¸Û¤øÅÛ  
 

 (3) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶Ûà ÈÛ¸ÛÁõÛÉÛ – 70,000  …éïõ¾ÛÛé  
  ÉÛÄõ¶ÛÛéõ Í¤øÛéïõ  –   7,000  …éïõ¾ÛÛé 
  …Û”ÛÁõ Í¤øÛéïõ  – 12,000  …éïõ¾ÛÛé 
  ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶Ûà ”ÛÁõàþùà ïéõ¤øÅÛà ? 
  (i) 75,000 …éïõ¾ÛÛé (ii) 65,000 …éïõ¾ÛÛé 
  (iii) 77,000 …éïõ¾ÛÛé (iv) 82,000 …éïõ¾ÛÛé 
 

 (4) 100 …éïõ¾Û¶Ûà ½ÛÛÜÁõ©Û ÍÛÁéõÁõÛÉÛ ` 140 ™öé, ©Ûé¾ÛÛ×¬Ûà 40 …éïõ¾Û¶Ûà ïäõÅÛ ¸Û¦ø©ÛÁõ ` 5000 ™öé ©ÛÛé 
¼ÛÛïõà¶ÛÛ …éïõ¾Û¶Ûà …éïõ¾Ûþùà¥ø ¸Û¦ø©ÛÁõ ïéõ¤øÅÛà ÐüÉÛé ? 

  (i) ` 150  (ii) ` 125 (iii) ` 140 (iv) ` 240 
 

 (5) …éïõ ”ÛÛ©ÛÛ¾ÛÛ× …éïõ ›Ûé¼Û ¾ÛÛ¤éø ¸Ûó¾ÛÛ¨Û ÍÛ¾ÛýÛ 50 ïõÅÛÛïõ ™öé, ©Ûé ›Ûé¼Û ¸ÛæÁõÛé ïõÁõÈÛÛ ¾ÛÛ¤éø ÅÛéÈÛÛ¾ÛÛ× 
…ÛÈÛéÅÛ ÍÛ¾ÛýÛ 40 ïõÅÛÛïõ ™öé. ÍÛ¾ÛýÛ ÈÛé©Û¶Û ïõÅÛÛïõ¶ÛÛ ` 15 ™öé, ©ÛÛé ÁõÛñÈÛé¶Û ýÛÛé›÷¶ÛÛ Ðéü¥øÇ ¼ÛÛé¶ÛÍÛ¶Ûà 
Áõïõ¾Û  

  (i) ` 120  (ii) ` 75 (iii) ` 150 (iv) ` 300 
 

 (6) …éïõ ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛ ýÛÛ×ÜªÛïõ ïõÅÛÛïõþùÁõ …¶Ûé ¸ÛÁõÛé“Û”Û˜ÛÙ¶Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé :  
ýÛ×ªÛ ïõÅÛÛïõÛé – ¸ÛÁõÛé“Û ”Û˜ÛÙ (`) 
20,000 – 1,50,000 
30,000 – 2,00,000 
25,000 – 1,75,000 

  ©ÛÛé Š¸ÛÁõ¶ÛÛ¾ÛÛ× ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ¶Ûà Áõïõ¾Û ¶Ûà˜Ûé ¾Ûä›÷¼Û ÐüÉÛé  ƒ  
  (i) ` 50,000 (ii) ` 60,000 
  (iii) ` 25,000 (iv) ` 40,000 
 

 (7) ïõ¾ÛÙ˜ÛÛÁõà ÁõÛšýÛ ÈÛà¾ÛÛ ýÛÛé›÷¶ÛÛ¶ÛÛé ”Û˜ÛÙ ›ä÷þùÛ ›ä÷þùÛ ÜÈÛ½ÛÛ•ÛÛé ÈÛ˜˜Ûé ïõˆ Áõà©Ûé ºõÛÇÈÛÈÛÛ¾ÛÛ× …ÛÈÛé    
™öé ? 

  (i) ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà¶Ûé …ÛµÛÛÁéõ  (ii) ¸Ûó©ýÛ“Û ïõÛ¾ÛþùÛÁõ ïõÅÛÛïõ¶ÛÛ …ÛµÛÛÁéõ  
  (iii) …éïõ¸Û¨Û ¶ÛÐüá  (iv) ïõÛ¾ÛþùÛÁõÛé¶Ûà ÍÛ×”ýÛÛ¶ÛÛ …ÛµÛÛÁéõ  
 

 (8) ¸ÛÛÈÛÁõ”Û˜ÛÙ (ÍÛÁõ˜ÛÛ›÷Ù ÍÛÛ¬Ûé) ` 99,000, ïõÅÛÛïõ þùà¥ø ýÛäÜ¶Û¤ø ÈÛ¸ÛÁõÛÉÛ 10 ýÛäÜ¶Û¤ø, ýÛäÜ¶Û¤ø þùà¥ø 
¸ÛÛÈÛÁõ¶ÛÛé þùÁõ ` 7.5 ™öé …¶Ûé ÍÛÁõ˜ÛÛ›÷Ù 10% ™öé. ýÛ×ªÛ¶ÛÛ ïõÅÛÛïõÛé ïéõ¤øÅÛÛ ÐüÉÛé ? 

  (i) 1200  (ii) 6000 
  (iii) 9900  (iv) 6600 
 

 (9) ÉÛÄõ¶ÛÛé Í¤øÛéïõ ` 40,000, …Û”ÛÁõ Í¤øÛéïõ ` 20,000, Í¤øÛéïõ ºéõÁõ¼ÛþùÅÛà þùÁõ 5 ™öé. ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶Ûà 
”ÛÁõàþùà ïéõ¤øÅÛà ? 

  (i) ` 1,30,000 (ii) ` 60,000 
  (iii) ` 2,00,000 (iv) ` 1,00,000  
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 CE 201 (A)  : ADV. A/C & AUDITING 
(Cost Accountancy – I) 

 
 

Time : 3 Hours]   [Max. Marks : 70 
 
Instructions : (1) Attempt all questions. 
   (2) All questions carry equal marks. 
 
1. (A) Write short notes on : (any one) 7 
  (1) Elements of Cost 
  (2) Advantages of Cost Accounting Method 
  (3) Fixed overheads and Variable overheads 
 
 (B) Explain – “Operating Costing Method” and State the proper cost unit of the 

following industries : 7 
  (i) Railway 
  (ii) Hotel 
  (iii) Chemical 
    OR 
 (B) Explain objectives of uniform costing and classify the following expenses into 

Direct Labour and Indirect Labour : 
  (i) Wages paid to Carpenter 
  (ii) Wages paid to Weaver 
  (iii) General Manager’s salary 
 
2. (A) Write short notes on : (any one) 6 
  (i) Bin Card  
  (ii) A.B.C. Analysis for material control 
    OR 
 (A) Explain “Weighted Average Method” of the pricing to the issue of material for 

production. 
 
 (B) (i) From the following details, find out Ordering Level, Minimum Level,  

Maximum Level and Safety Stock : 8 
Ordering quantity – 12600 Units 
Reorder period – 6 to 10 Weeks 
Maximum consumption – 3150 Units per week 
Minimum consumption – 1050 Units per week 
Normal consumption – 2100 Units per week 
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  (ii) The following information is received from the Kirtan Co. Ltd. for the           
year 2012-2013 : 

Annual consumption – 20,000 units 
Purchasing price per unit – ` 50 
Cost per order – ` 500 
Carrying cost per order – 10% of purchase price 

   Calculate Economic Order Quantity. 
OR 

 (B) The following is a summary of receipts and issues of material “X” in a factory 
during April, 2013 : 8 

Receipts Issues Date Units Rate per unit ` Date Units 
01-4-2013 1800 2 12-4-2013 3000 
05-4-2013 3600 3 20-4-2013 4800 
15-4-2013 4200 3 29-4-2013   600 
26-4-2013 1800 4   

   The issues on 12-4-2013 and 20-4-2013 are priced on “LIFO” and “FIFO” 
basis respectively. It was decided to issue from 26-4-2013 on Weighted Averaged 
Method. 

   Prepare Stock Register for material. 
 
3. (A) From the following information of a factory, find out the amount of net wages 

payable in cash and also find out the cost of wages for March, 2013 : 8 
  (i) Salary per month ` 50,000 
  (ii) Dearness allowance 120% of salary 
  (iii) Total amount deposited to P.F. ` 10,000 
  (iv) Total amount deposited to E.S.I ` 3,750 
  (v) Expenses on amenities to employees ` 3,500 
  (vi) House rent recovered from 25 employees at the rate of ` 150 per month. 
    Employer’s contribution to P.F. is at equal rate with employee’s 

contribution, while the ratio of employer’s and employee’s share into the 
contribution to E.S.I. is 2 : 1. 

OR 
 (A) The following information is available from the Personnel Department of 

Kapadwanj Cotton Mills ltd. Calculate Labour Turnover Rate. 
  (i) By Replacement Method 
  (ii) By Separation Method 
  (iii) Equivalent Annual labour turnover rate by the above two methods.  
  No. of workers on 1-1-2012     –   12000 
  No. of workers on 31-12-2012  –    8000 
  During the month of December 2012 
  No. of workers resigned – 600 
  No. of workers retired – 1200 
  No. of workers dismissed – 800 
  No. of workers newly appointed – 1500 
  (of which 30% workers taken under expansion plan) 
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 (B) Write short notes on (any one) :   6 
  (i) Halsey plan 
  (ii) Causes of Labour Turnover Rate 
  (iii) Profit sharing scheme 
 
4. The Kirtan Ltd. is having three production departments X, Y, Z and one service 

department “M”. During the month of March, 2013, the working days are 25, each day 
of 8 hours. The following data is available from its books :  14 

 ` 
Rent and Taxes   – 40,000 
Supervisor’s Salary  – 50,000 
Factory Lighting   – 30,000 
Depreciation   – 15,000 
Canteen expenses  – 12,000 
Power    – 14,000 

 Other information is as under. On the basis of that, find out “Direct worker hour rate” 
for each department of production : 

Particulars X Y Z M 
Number of Light points  24 12 18 6 
Space occupied (Sq. feet) 900 600 750 750 
Number of workers 500 300 200 200 
Price of Machines (`) 2,00,000 1,20,000 2,80,000 – 
Horse Power of Machines 60 30 50 – 
Proportion of allocation of Supervisor’s salary 9 6 6 9 
Services rendered by service department 40% 30% 30% – 

OR 
 Calculate the Machine Hour Rate from the following details : 14 

Value of Machine – ` 3,00,000 
Useful life of machine – 20 years 
The annual working hours of machine – 2000 

 
  ` 
Electricity of factory (annual) – 10,000 
Annual Sundry expenses allocated to the machine – 10,000 
Annual factory rent – 12,000 
Annual insurance premium of machine – 3,000 
Repairs of machine during its life – 60,000 

 (i) The consumption of power in the machine is 2 units per hour. The rate of power is 
` 0.50 per unit. 

 (ii) The machine occupies 1/4th space in the factory. 
 (iii) 1/5th of the total employees work on this machine. The electricity of the factory is 

to be distributed on the basis of number of employees. 
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5. Choose the right answer from the multiple options : (with calculation/reason)                  
(any seven)    14 

 (1) Which of the following statement is not correct ? 
  (i) Administrative salary is a fixed cost. 
  (ii) Total fixed costs do not vary on a per unit basis within the relevant range but 

remain constant. 
  (iii) When production volume decreases, variable manufacturing costs per unit 

remain constant but total variable cost decreases. 
  (iv) Total semi-variable costs are two types of costs : fixed costs and variable costs. 
 

 (2) In which of the following enterprises “Operating Costing” is not applicable ? 
  (i) Transport companies (ii) Hotels 
  (iii) Oil refineries (iv) Hospitals 
 

 (3) Material consumption – 70,000 units 
  Opening Stock –   7,000 units 
  Closing Stock – 12,000 units 
  than what will be material purchases ? 
  (i) 75,000 units (ii) 65,000 units  
  (iii) 77,000 units (iv) 82,000 units 
 

 (4) Weighted average of 100 units is ` 140 out of it total cost of 40 units is ` 5000, 
what would be per unit cost of remaining units ? 

  (i) ` 150  (ii) ` 125 (iii) ` 140 (iv) ` 240 
 

 (5) In a department standard time allowed for a job is 50 hours. Actual time taken to 
complete the job is 40 hours and wage rate is ` 15 per hour. The amount of bonus 
under Rowan plan. 

  (i) ` 120  (ii) ` 75 (iii) ` 150 (iv) ` 300 
 

 (6) The following information is given for one factory of the overhead costs and 
machine hours : 

Machine Hours – Overhead costs (`) 
20,000 – 1,50,000 
30,000 – 2,00,000 
25,000 – 1,75,000 

  What would be the fixed cost element included in the above data ? 
  (i) ` 50,000 (ii) ` 60,000 
  (iii) ` 25,000 (iv) ` 40,000 
 

 (7) Contribution to Employees State Insurance Scheme will be apportioned according to 
  (i) Direct Labour (ii) Direct Labour hour rate 
  (iii) None of the above (iv) Number of workers 
 

 (8) Power expenses including surcharge ` 99,000, consumption per hour 10 units, Rate 
of power per unit ` 7.5 and surcharge 10%, what  would be the machine hours ? 

  (i) 1200  (ii) 6000 
  (iii) 9900  (iv) 6600 
 

 (9) Opening stock ` 40,000, Closing Stock ` 20,000. Stock Turnover rate 5, then what 
will be material purchases ? 

  (i) ` 1,30,000 (ii) ` 60,000 
  (iii) ` 2,00,000 (iv) ` 1,00,000 

________ 
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